CSCI 2200 RP1
Foundations of Computer Science (FOCS) 2019

QUIZ 1: 60 Minutes

Last Name: S duond
A
First Name:
RIN:

Section:

Answer ALL questions. '
NO COLLABORATION or electronic devices. Any violations result in an F.
NO questions allowed during the test. Interpret and do the best you can.

GOOD LUCK!

Circle at most one answer per question. Total
10 points for each correct answer.

You MUST show work to get full credit.

When in doubt, TINKER. 200




1. /2 ig what kind of number?
A natural number.,
A rational number,
An irrational numbaer,

An integer.

None of the above.

2. The set § = {n|n = {k — 1)(~1}*, where k € N}, Which of these sets could be §?
[A]{1,2,3,4,56,7,809,10,...}
[B]{0,1,2,8,4,56,7,89,10,...}

{0, 1,-2,3,-4,5,-6,7,-8,9,-10,...}

[D]{1,-2,3,-4,5,-6,7,-8,9,-10, ...}
{0,-1,2,-3, 4,-5,6,-7, 8 -9, 10, ...}

S=§0,1,%3 - -

3. A and B are sets. Which answer is another way to represent 4 N B.

None of the above.

4. An integer n € Z has an even square, that is n? is even. Which claim is true?
: 2 - — M
[A]n is odd. mis ever > e
E n 1s positive, nz e —2 N ;
2 . Por .
is divisibie by 4. l&" L,j "f

E n ig divisible by 4.

None of the above claims are true.

5. How many rows are there in the truth table of the compound proposition ({(p = q) Vv {p — )} = (g r)?

[A] 2.

2 vandkls — 2p02 =6




6. On your car’s back bumper is a sticker that says “Honk if you love FOCS.” Joe was behind you and
honked. Later, Sue was behind you and didn’t honk. What would be a valid inference?

LrCa
Joe loves FOCS. We don't know about Sue. %at W{J — be wramy e &K_ o5
P
Sue loves FOCS, We don't know about Joe A ot fouale — C
Sne A o ead fer
Joe does not love FOCS. We don’t know about Sue. a ;‘p is 7 p -
ji,e . -D
Pue does not love FOLS. We don’t know about Joe MM ! P > a - % o Ow~ b..fa/ "'7f
Joe loves FOCS and Sue does not love FOCS. g'-l*‘—h“ld’,

7. For z,y € N={L,2,3,.. .}, determine T or F for the proposition ¥y : (Jz : 2% = y).

Can’t be done because p is not a valid proposition which is either T or F, . =2
i Y=

It depends on z. 3 - x;f;?f”

2
P S
1t depends on y. 3x 0(1
(o). C e peee for MY
6]

8. What method of broof did we use to prove that /2 ¢ Q7

Direct proof
Contraposition proof.
Proof by induction.

.’Proof by confradiction.

None of the above,

9. What method would you use to prove that 13 +23 3% + 4% 4 ... t n? = (n(n +1))% for all n > 17

Pirect proof
Contraposition proof.
Show that the formuls is true for n =1 up to n = 1000.

Proof by induction,

Proof by contradiction.,

10. You must prove P(n) for n > 3. You proved P(n) -3 P(n+3) for n > 3. What base cases do you need?
P(1)
P(3)

P(1), P(2) and P(3)

(3)= P(4) and P(5) L//z’—‘/
None of the above. %mle W )

N
3y P -




11. For z,y € N, which statement is a contradiction (cannot possibly be true)?
2?2 <y, x= 2 3= 10
EEREEEE S
- p
Clatp<1  %=2 37 ) ‘
, "LL"’J 32 % D eat be. e .

2 z
Pt > 2N )d -}! - —>  to~tradichan.
None of the above. That is, each statement above can be true for specific choices of T, Y.

12. Which gives a valid way to prove the implication p — ¢. '
prove-  p=T  a4=F o 4
Assume p is F and show that ¢ must be ¢, X ‘
w%.
Assume g is T and show that p must be T. X
Assume p is T and show that ¢ must be F. s
ssume p is T and g is F and derive a contradiction.

None of the above.

13, What is the difference between using Induction versus Strong Induction to prove Pn) forn > 17
The base cases are different.
Induction is usually easier than Strong Induction.
In Induction you prove P(n + 1). In Strong Induction you prove P(n + 2).

~

[DJin Induction you assume P(n). In Strong Induction you assume P(1) A P(2) A--+ A P(n).

L

There is no difference between the two methods.

[A]1/5 T ‘:g; %) '.{y Lo- AT _7_L
[Bl1/10
[c] 1/50

100

Nane of the above,

15. We wish to break a group of n students into project-teams. Each team must have either 4 or 6 students.

IF n > 4, THEN it can be done. P — Plns+)

IF 72 > 6, THEN it can be done. l M
IF i > 10, THEN it can be done. (f_(:!j____ _ ’{w
sty *

F n 2 4 and n is even, THEN it can be done, : ,L OAA &b
None of the above. gt d;o 7 y
can ey bt



1 n =0
16. What are the first four terms Ag, A1, Az, As in the the recurrence Ay = ’
24, 1+1 n>1,

1,2,3,4,

[B]1,2,4,8. I 3 7 i - ..
[C]1,3,6,12.

,3,7, 15.

None of the above.

1 = ()
17. Forn = 0, what is a formula for 4,,, where A, satisfies the recurrence A, = "
2Ap_1+1 n>1,
AlA,=1+2nf > 0. et
+2nforn > AL‘ Py 1 ‘
Anml+n+n2forn20. W w
An=1+%{5n+n3) for n > 0. 40: 9.!_’! o v
‘An=2n+1_lforn2(}. W P(") Az ntl A’M-{’: &A’h..kl
£ ) . V“ ?' - . * '
? nt? | :a-. ”M -2
None of the above. Krpve ’P(Mﬂ; }ﬂ'w - > - A N MZ/' / .
2

18. String  is a palindrome, that is # = 28 where 2® is the reversal of 2. Which statement about z is false?

z could be the string 1001.

The reversal of z must be a palindrome, that is 2% is a palindrome. oW o e
patindeos -
:_ J) s M& .

E he concatenation of z with itself is a palindrome, that is z+x is a palindrome.
@ Y must have even length.

The concatenation of z with its reversal is a palindrome, that is z=z® is a palindrome.

19. Rooted binary trees (RBTs) are recursively defined below. How many RBTs have 3 vertices? / { /\9

20. A rooted binary tree (RBT) has 8 vertices, How many links (edges) does the RBT have?
There is not enough information to determine the number of links. ;
.‘” —
5 4 Links = F verF
[l t

B8
M



